
Sou£tové vzor
e:

sin(α ± β) = sin(α) cos(β) ± cos(α) sin(β); cos(α ± β) = cos(α) cos(β) ∓ sin(α) sin(β)

Hodnoty goniometri
ký
h integrál·:

∫ π/2

0
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Hodnoty ja
obián· vybraný
h sou°adni
:

x = s + a̺ cos(ϕ)

y = t + b̺ sin(ϕ)
det

(

D(x, y)
D(̺, ϕ)

)

= ab̺.

x = s + a̺ cosα(ϕ)

y = t + b̺ sinα(ϕ)
det

(

D(x, y)
D(̺, ϕ)

)

= abα̺ cosα−1(ϕ) sinα−1(ϕ).

x = s + a̺ cos(ϕ)

y = t + b̺ sin(ϕ)

z = u + ch

det

(

D(x, y, z)
D(̺, ϕ, h)

)

= abc̺.

x = s + a̺ cosα(ϕ)

y = t + b̺ sinα(ϕ)

z = u + ch

det

(

D(x, y, z)
D(̺, ϕ, h)

)

= abcα̺ cosα−1(ϕ) sinα−1(ϕ).

x = s + a̺ cos(ϑ) cos(ϕ)

y = t + b̺ cos(ϑ) sin(ϕ)

z = u + c̺ sin(ϑ)

det

(

D(x, y, z)
D(̺, ϕ, ϑ)

)

= abc̺2 cos(ϑ).

x = s + a̺ cosβ(ϑ) cosα(ϕ)

y = t + b̺ cosβ(ϑ) sinα(ϕ)

z = u + c̺ sinβ(ϑ)

det

(

D(x, y, z)
D(̺, ϕ, ϑ)

)

=

= abcαβ̺2 cos2β−1(ϑ) sinβ−1(ϑ) cosα−1(ϕ) sinα−1(ϕ).

x = s + a̺ cos(ω) cos(ϑ) cos(ϕ)

y = t + b̺ cos(ω) cos(ϑ) sin(ϕ)

z = u + c̺ cos(ω) sin(ϑ)

w = v + d̺ sin(ω),

det

(

D(x, y, z,w)
D(̺, ω, ϕ, ϑ)

)

= abcd̺3 cos2(ω) cos(ϑ).


